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M.Com. (PREVIOUS) A.B.S.T. EXAMINATION, 2019
Paper - 11
ADVANCED COST AND MANAGEMENT
ACCOUNTING
Time: Three Hours
Maximum Marks: 100

PART - A (578 — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

W ge SI7ard & JR&E g9 BT FIY 50 ] W 3B T &/
T 7o & S THT &
PART - B (5vs — §) [Marks: 50]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
URIE §HE W V9P 97 g7d §9 Fl 9id J97 B/
Tl Je BT FTv 250 F] W fEd T &l
T 7o & S THT &/
PART - C (578 — @) [Marks: 30]

Answer any two questions (300 words each).

All questions carry equal marks.

P ] FoT FIOTT | Fedb o7 T STV 300 Isq] F fFE 7 &/
vt got & 3ip wHT &
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Q.1

Q.2

Q.3

PART -A / @Gvs —

(i) Give two important factors of Product Pricing.
I g MERe & a1 Y@ gcdh qargy |
(i1) What is Pricing Policy?
o fafRor fifg @ 287
(i11)) What do you mean by product mix decisions?
Iaare fAstor Fofal & s @ L1y &7
(iv) What is ‘Throughput Accounting’?
'Ige ARSI FT &7
(v)  What do you understand by Activity Based costing?
forar smenRa e fMuiRor | e g1 FHea 27
(vi) Define Activity Based Management.
forar smenRa yeve @1 gRwifia aford |
(vii) What do you mean by ‘Cost Variance’?
AT faaRor | Ut @ ity 87
(viil) What is Target Costing?
Feg rTd ek @ 87
(ixX) What do you mean by ‘EVA’?
MG o S’ & IMIST RT3 272
(x) What is ‘Balance Score Card’?
dI ¥R Bis’ RIT BT 87

PART -B / @Us — §
UNIT -1,/ 51 — 1

Explain any two cost based Pricing Decisions.

ST W MR faegl &1 Jou MeriRor ol &1 w9y |
OR /31041

What are the basic principles of product pricing? Explain in brief.
SIS e ek & qeva Rigrd @ €7 e # aHesy |
UNIT -I1/ S8 — 11

What are the important factors in Marginal costing decisions? Explain.

A arrd faRer W) mnRa foke & v ged gt €7 wwHEsy |
OR /31eda1
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Q4

Q.5

Q.6

Q.7

Q.8

Explain the pricing under special circumstances.

faery uRRerferat # qoa feriRor &1 aHemgy |
UNIT -III / S1s — 11T

Differentiate the ABC and traditional costing system.
forar smenRa <rra eaRvr vd wafera (Sfeeen) omma MR gomell # ok =y |

OR /31e1d1
Explain Cost Accounting Standard (CAS) -1.
ANTT oT&Th AFD — 1 BT IS |

UNIT -1V / S —1V
How do you compute the various cost variances? Explain.

fafr=1 oI fa=Ror &Y T fhd YR @1 S 27 9Eeiey |
OR /31e1d1

How do you test the significance of various cost variances? Explain.

fafr=1 ST fa=RoT &1 Areiedr BT TR T fhd JhR dRd 27 Fasnsy |

UNIT -V/ 5&1g -V
How EVA is helpful in measuring shareholders wealth? Explain.

JETRAT BT TR BT AU b H Md Jod SIs [Fd YR FEAN AT &7

A |

OR /3dr
Explain the term ‘Market Value Added’ and ‘Cash Value Added’.
IR e SIS’ Ud Adhe Hod Sie’ HI AR |

PART-C / @Gvs — 9§

Explain the procedure of Product Pricing and Pricing of Services clearly.

STE Td Harsit & Hed MR & W w9 3 IHEsd |

Babrubhan Ltd. produces cycles and cycle tubes. The cost of producing tubes are

detailed below-

I o1, ATSdhel qAT ASfhel SITH BT AT B & | SHHI YAl & AT B D

AT 7T gpR 2—

Particulars Cost of Manufacturing Tubes
Per Unit For 1,000 Units
3 3

Direct material 10 10,000
Direct labour 80 80,000
Other variable costs 40 40,000
Fixed costs 50 50,000
Total cost 180 1,80,000
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Arjun cycle tubes India Ltd (one of the manufacturers of tubes) proposes to sale
exactly same tubes to Babrubhan Ltd @ ¥ 160 per tube.
An analyses of fixed cost reveals that fixed cost (i.e. depreciation, insurance, salaries
etc.) to the extent of ¥30,000 is unavoidable and will persist. Explain whether
Babrubhan Ltd. should make or buy tubes.
3 ATgfhel <gd gfedr (Ta Agfba cgd AT &) o ag9 fo. &1 160 TUfd
SHlE B R A I & e o1 <gg [ 3g wRarad aal © |
IR NIl BT fagetyor uglRid #Rar § b 30,000 ¥ ® AN 39 WwEH H ol 9 R
2 Fifdh 98 g O T | (399 g, 91, dRan aiisifie g wnfd €) qarsy
& T qgve for. &1 g &1 AT ST =Ry s wa?

Q.9 Write a comprehensive essay, on ‘Activity Based Costing” covering cost Accounting
standard 1, 2 and 3.
AT oIl A& 1, 2 Td 3 Pl WA B gy, b1 EiRa arTa odieT R U
faega e faRad |

Q.10 You are given the following figures -

amu! fAeforRad He ued & —

Particulars Standard Actuals

Qty. (units) | Price per unit | Qty. (units) | Price per unit
Material A 40 4 50 5
Material B 60 5 70 6
Total Input 100 120
Output 100 110

Calculate all possible variances.
T FRg fIeRon @) 7oA BT |

Q.11 What do you understand by EVA? How it is computed? Also explain how EVA is
better than Return on Investment?
MR Heg Sire W MY AT AHIA &7 D! VAT fbd YR Bl Sirefl 87 amfiep Heu
Sire (EVA) fafiT «k e (ROI) ¥ fd yaR 9 27
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